H ® Installation Guide
A Zip rail

OM

© Playpower inc
E-post: hags@hags.com
www.hags.com

H AGS® Document: SW67733 Rev No: 1 Drawn By: Robin Hjelm
Zip rail 18/12/18 Approved By: Jorgen Lindstrand 1ofN



BOMID IMAGE QUANTITY DESCRIPTION DOCUMENT ID WEIGHT BOMID IMAGE QUANTITY DESCRIPTION DOCUMENT ID WEIGHT
1 1 Trolley f. Zip rail ASY0472 1.36 12 36 Screw, wood, TKFT-8x60-8.8 8008646 0.02
2 % 1 Rope handle f. Zip rail SW66890 0.52 13 2 Washer ISO7089-8.4x16x1.6 8050049 0.002
& E/ 1 Beam 2m f. Zip Rail SW66122 13.56 14 ' 28 Washer ISO7092-10.5x18.1.6 8071044 0.002
o o
4 _/ 2 Beam f. Zip rail SW66117 8.78 15 4 Washer Steel 9x35x3 8008856 0.00
5 \ 2 Zip rail track SW68889 18.08 16 2 Foot for posts f. install guides 8010698 2.4
6 ﬂ 2 Rubber Stop 8005589 0.02 17 2 Post 8047840 13.2
7 14 Nut, DIN986-M10-8 8008754 0.015 18 — . 2 Post cap, for Wood Post 8047591 0.14
o
8 @ 2 Nut, DIN986-M8-8 8008753 0.008 19 % 1 Loctite 8006109 0.0
9 36 Countersink washer 8 SW33168 0.0
Ycs
10 ' 10 Screw, 1ISO7380-1-M10x20-10.9 8008451 0.019
1 ﬁ 4 Etrew, 1ISO7380-1-M10x25-10.9- 8008458 0.024
© Playpower inc
E-post: hags@hags.com
www.hags.com
H AGS® Document: SW67733 Rev No: 1 Drawn By: Robin Hjelm
Zip rail 18/12/18 Approved By: Jorgen Lindstrand 20fN



k)
1

0,59m
[ 23,23in ]

2,50m
[98,38in |

2,40m
[94,41in |

K/J
i
N
g\T
A
L\

4113

o
‘ N
g !
¥ U U
‘ ¢
<
£ 5 .
~ o
ek 3m
[118,08in |
[236,15in |

© Playpower inc
E-post: hags@hags.com
www.hags.com

Rev No: 1 Drawn By: Robin Hjelm

® Document: SW67733
HAGS Zip rail 18/12/18 Approved By: Jorgen Lindstrand 3ofN



8047591

0

MASW67311

8047840

=

8010266

MASW67311

© Playpower inc
E-post: hags@hags.com
www.hags.com

H AGS® Document: SW67733 Rev No: 1
Zip rail 18/12/18

Drawn By: Robin Hjelm
Approved By: Jorgen Lindstrand 4 0of 1



© Playpower inc
E-post: hags@hags.com
www.hags.com

H AGS® Document: SW67733 Rev No: 1 Drawn By: Robin Hjelm
Zip rail 18/12/18 Approved By: Jorgen Lindstrand 5o0fl



—)

4
®

2,40m
< [(%441in] — "

© Playpower inc
E-post: hags@hags.com
www.hags.com

Rev No: 1 Drawn By: Robin Hjelm
Approved By: Jorgen Lindstrand 60

H AG S® Document: SW67733
Zip rail 18/12/18




}i.
A3
N

2,50m
[ 98,26in ]

© Playpower inc
E-post: hags@hags.com
www.hags.com

Rev No: 1 Drawn By: Robin Hjelm

® Document: SW67733
HAGS Zip rail 18/12/18 Approved By: Jorgen Lindstrand 70of



© Playpower inc
E-post: hags@hags.com
www.hags.com

H AGS® Document: SW67733 Rev No: 1 Drawn By: Robin Hjelm
Zip rail 18/12/18 Approved By: Jorgen Lindstrand 8of



© Playpower inc
E-post: hags@hags.com
www.hags.com

H AGS® Document: SW67733 Rev No: 1 Drawn By: Robin Hjelm
Zip rail 18/12/18 Approved By: Jorgen Lindstrand Sofll



© Playpower inc
E-post: hags@hags.com
www.hags.com

H AGS® Document: SW67733 Rev No: 1 Drawn By: Robin Hjelm
Zip rail 25/02/19 Approved By: Jorgen Lindstrand 100f N



© Playpower inc
E-post: hags@hags.com
www.hags.com

H AGS® Document: SW67733 Rev No: 1 Drawn By: Robin Hjelm
Zip rail 25/02/19 Approved By: Jorgen Lindstrand 1ofl



